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ACADEMIC YEAR 2022-23
GRADE: X
SUBJECT: PHYSICS
CH – 11 – THE HUMAN EYE AND THE COLOURFUL WORLD – ASSIGNMENT – 4
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A. MULTIPLE CHOICE QUESTIONS

1. A prism ABC (with BC as base) is placed in different orientations. A narrow
beam of white light is incident on the prism as shown in below Figure. In which of
the following cases, after dispersion, the third colour from the top corresponds to
the colour of the sky?
(a) (i) 				(b) (ii)
(c) (iii)			(d) (iv)
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2. At noon the sun appears white as
(a) light is least scattered			(b) all the colours of the white light are scattered away
(c) blue colour is scattered the most	(d) red colour is scattered the most

3. Which of the following phenomena of light are involved in the formation of a
rainbow?
(a) Reflection, refraction and dispersion
(b) Refraction, dispersion and total internal reflection
(c) Refraction, dispersion and internal reflection
(d) Dispersion, scattering and total internal reflection

B. ANSWER THE FOLLOWING QUESTIONS

1. On what factor the colour of the scattered light depends?
2. Why does sky appear blue on a clear sky? 
3. Explain the phenomenon of dispersion of white light through a glass prism, using
suitable ray diagram.
4. How does refraction take place in the atmosphere? Why do stars twinkle but not
the planets?
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